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AlZHel gt
19,5382 x 1+ 1BAI 2t 122 3,517
] 156,300+ 1&*1& 157
—10=2 3,742
Al2tel g
19,863 x1&x15A 2H+ 123 3,582
] 159, 1683 18+ 1l 160
a3 3,779
Alztel e
20,007 3«12 =154 2+ 123 3,618
] 160, 7763 x1&x1d 161
JI2ZHIO0IsEsS) 36,044 32,8% 3,180




SN0 e
M MARAZHI(OI=E22D)
SRl D202 (St &)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
=22 (0ls2s1) 36,044 32,8% 3,180
201 er23 | 27,564 24,414 3,180
01 At2teltl 20,604 18,654 1,950
OsgJl gtz 360,000& «1CH*12& 4,320
O&=+I| Xtz 50,0002 1CH* 12 600
OAMSINDI2S(BNH)
198,000& x4E 123 9,504
OUB2P=E(ZY) 200,000 122 2,400
OJIEI2ZHI(ZNH) 3,780,000& 3,780
02 S3=gl 6,960 5,760 1,200
OoZsityg FFU
100,000 *3CH* 12 3,600
OZExte #=cltl 400,000 +3CH 1,200
Oo&sitg 28z 650,000 30 1,950
O2SAtg ASIHA 70,0002 *3CH 210
202 048l 3,600 3,600
01 2L AL 3,600 3,600
O=U0obI(S) 300,000« 1H =122 3,600
203 =] 4,880 4,880
03 A=A =] 2,000 2,000
OAIBF AR =] 2,000,000 2,000
M EA2ER=AH 2,880 2,880 0
ORNEgE =AY
240,000 x 122 2,880




